CHaPTER © |
Coordinate geometry

UNIT 1: The distance formula

L EXCEL YEARS 9 & 10 ADVANCED
Ch.6,6.1,p. 75

QuestionT  Calculate the distance between the following pairs of points. Leave your answer in
surd form if necessary.

a A€ 1),B(,5) b A3, 7), B, 15)
¢ A2 -5), B -7) d  A(=2 3) B2, -5)
e A3, 4),B(6,8) o f A6 -3), B8, -7)

QuesTioN2  Calculate the length of each side of AABC and by using Pythagoras’ Theorem find
whether or not it is a right angled triangle.

a  A(00),BG0),CE4 b A(l,6), B, 2), C(-4,3)
QuEsTION 3
a  Find the distance between the points b Find the perimeter of the triangle whose

A(-1, 3y and B(3, 8) and then square it. vertices are A(4, 0), B(7, 4) and C(-1, -2).
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UNIT 2: The mid-point of an interval

QuestioN1  Find the mid-point of the interval joining the following points.

a  (0,4)and (0, 8) - b (1,5)and(,7)
¢ (<1, 4)and (-3, -2) d (2,7 and (6,1)
e (5 0)and (3, 0) (2,6 and(2,2) |
g (-1, -8)and (5,2) | " h (7, 1)and (5,3)
i (0,8)and (6 6) § B 4and(,8)
k (=2,-5)and (2, 5) 1 (=6, 4)and (6, ~4)

QuesTioN2  The vertices of a triangle ABC are A(-—2 5), B(6, 7) and C(3, -3). Find the mid-point of
each side.

QuesTioN3  The vertices of APQR are P(2', 3), Q(10, 9) and R(8, 0).

a  Find the mid-points of PR and QR. b Find the length of the interval j ]ommg
these mid-points.
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Coordinate geometry

UNIT 3: Different forms of linear equations

QuesTtion 1

a  2x+3y=7

d 8y+5=3x

g y=—4x+10
X

i =—+1

] y 3

b

4]

Ch.6,62,p.78

Write each of the following equations in general form.

x—y=-9 ¢ 3x—-6=2y
Sx—y=8 f  y=2x-1

8x—7=5y i 3x—y=-4
y-x=14 I 9x=8y-3

QuesTioN2  Write each of the following equations in the gradient-intercept form.

a

d

g

j

3y=6x+12

8y—.3x=9

x+y=1

y+2x=7

b

€.

h

k

Sy=—2x+7 ¢ 9+y=6x
y+3x§0 f  Tx-y=14
3x~-y=8 i 3y=9x-18
Ty=8x-10 I 3y=9x

QUESTION3  Write down the gradient (m) and the y-intercept (b) for each of the following.

a

C

e

8

y=2x+1

y=x+5

1
==—x-2
y=,%

1
=—tx—4
y==5%

y=Tx-3

y=—2x+3

1
=—x-1
y=gx

y=-—x

QuesTion 4 Write the equation of the line in the gradient-intercept form when the gradient (m) a:
the y-intercept (b) are given.

a

d

m=2,b=1

m=—,b=3

b

m=7,b=-2
mz—i,b:?:
3

C m=—1b=4

f m=-~2,b=9




Coordinate geometry

UNIT 4: Graphing straight lines

fa EXCEL YEARS 9 & 10 ADVANGED A
# Ch. 6, 6.2.6, p. 81

Question1  Complete the table of values and then draw the graph of each straight line.

a  y=x+1 y : b y=2x-1 y

xlol1]2 e xlol1]2 -
N s X i x

y y i

C y=4x+3 y d 2x+3y=6 o
x|0]1]2 - i xl01]2 gxs g
¥ =t y

e y=?21~x—4 =5 4 f yﬁ—x-}-Z

|} '

v]of1]2 hi ¥ 0]t]2
y - y

QuESTION2  Find the x-intercept and y-intercept of the graphs of the following equz{tions and the

draw the graph.
a  y=2x+1 . b y=x+2 4 ;
x| 0 35k . : x {0 T
aNRngdE x , i] HE
y 0 + Y 0
¢  y=3x-2 ____V d  x+y=3 =
K e <o m :
il + b% i ks
y 0 ARERRESEnaen y 0
QuesTioN3  On the same number plane draw the graphs of the following. d -
a y=3x
b y=3x+2 : o 0 >
¢ y=3x-1
What do you notice? »

QuesTion4  Which of the following points lie on the line y = 2x + 1?
©,0) (L, 2), (0, 1), (1, 3), (-2, 1), (-2,-3)
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ANSWers

4 ‘
Page 43 1 a I=3,}’=2% b x:S,y:]_-;- c x:j’yzlg‘ d x=3,y=4 e x=-2,y=5 f r==1,y=-5 2 a x=4,y=0

1 1
,y=—1I8 x=1Ly=3 d x=1-,y=—=
28,y ¢ x=1,y=3 x > ¥ 2
PAGE 44 1 a x=6,y=4 b x=0,y=3 ¢ x=-4,y=0 d x=0,y=2 e x=3,y=-1 f x=1,y=4 2 a x=5y=2 b x=3,

¢ x=—6,y=-5 d xr—*S,y=3%

Paed451C2C3 C4C5 A6C7DS8 B9 DI0R

PAacE 46 1 x=6,y=--+ 2 x=5,y=—1- 3 x=5+y=2 1 =1L y=-15 x=8y=16 x=1,y=4 7 x=2,y=4 § »
r=73 2 37 277

y=4 9 x=7,y=—-§—’ 10 x=-18,y=46 11 .r=3,y=—-§~ 12 x=1,y=2 13 -x=9,y='1 14 g=9,b=-5 15 x=2,y=8§

PacE 47 1 a Sunits b 10units ¢ 2410 units d 445 units e Sunits £ 245 units 2 a AB =13 units, BC=4 units, CA = 5 it
Yesrt ZdA b AB=245 units, BC=~/53 units, CA = ¥34 units; Noitisnotart ZdA 3 a 41 units, 41 b (5+6v2 +29) units
Pace 481 a (0,6 b 2,6 ¢ (2,1) d @4 e 40 f (0,4 g @Dk 61 GDJ @46 k 0,01 (00
2 (2,6),(44,2).(3.1) 3 a Midpoint of PR(5,14), midpoint of OR(9,41) b $units .

PAGE 491 a 2x43y-7=0 b x-y+9=0 ¢ 3x—-2y-6=0 d 3x-8y-5=0 e 5x-y-8=0 f 2x-y-1=0 g 4x+y-

h 8x-5y-7=0 1 3x-y+4=0 j x-3y+3=0 k x—y+14=0 1 9x-8y+3=0 2 a y=2x+4 b y=—-§-x+’7 ¢ y=

d y:%x-l—-g— e y=-3x f y=7x-14 g y=-x+1 h y=3x-8 i y=3x—6 j y=-2x+7 k y=%x—-~1;f;)- l y=:3x 3 a
b=1b m=7,b=3 ¢ m=1,b=5 d m=2,b=3 ¢ m=1 pu2 ¢ m=tp=-1 g m=—%,b=—4 home=l1,b=04 a y=

1 —4x
b y=7x-2 ¢ y=-x+4 d y:§x+3 e y=Tl-+3 f y=2x+9

x]0]1]2 L/ xJ0f1]2 Y 47 x[0]172 Vg
PacE 50 1 a [5777373 = b [ [CI[ 3] & Tt 317100
: = X N
% R Tin i :
x]J o112 b/ _ X [i] 1 2 Y/ «J0J112] % x| 0 {—-% b/
AL I SRR ey [ 4 [ 3] 3 fy 12110 BEm. 225170 :
TR ;’\g_: SN i
50k = R,
| SEAf L, /[
0 [—2 Y, x]oJz2 x[0]13 v y ba -
b 210 sl © S s d [5T370] & 3 A4S 4 01,3, (2
e =N A
i i/t HEE ,»%Z ;
1, .2 . L 1 . 1 1 2, 2 41 o 541 _-1-5_ 741
PAGE511a~12b1§-c 3d3e ¢ ! 2 835 k31 T 1k 5 1152 =0 —=am

3 bande 4 mofAB=mof CD= %andnzofBC:mefDAzg

Pace 52 1 2 2x-y-2=0 b x+y—-4=0 ¢ 2x—y=0 d 2x+y-7=0 e x-y+3=0 f dx—y=0 g x—2y+16=0
h x-4y+2=0 1 4x-y-6=0 j 2x-y-3=0 k 2x+y+5=0 1 3x—y-5=0 2 2x—y-7=0 3 3x—y—-4=0

PAGE 53 1 a x—y+1=0 b 2x—y+1=0 ¢ Ta-2y+11=0 d y=4 e Sx-5y=0 f x-y=0 g x—2y+7=0 h dx-y-—
i x-y+1=0 j x+2y-11=0 k 3x+y-10=0 1 x-2y=0 2 2¢~y+3=0;0-3+43=0 3 3x—2y=0 '
PAGES41ayesbnocyesdyeseyesfyesgyeshno2anobyescnod}?esenofyesgnohyes3apf‘
b parallel ¢ neither d perpendicular e perpendicular f neither g parallel h neither 4 a 3x-y-1=0 b 4x—5y=0 ¢ x—2y+
d x+y+1=0 '




